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FH9E THE MBREELH
1A% (@) NEERH (B)
And | mef | RARENEE | HuiR ALd | ke# | RREHEE | #uis
CNGV - CHGVH - CHGTHZ RS FA LISt DB &

500L %k
LPG 607, 721 2,323 0 2,403, 563 8,11 0
PG 11,761 292 0 291, 450 801 0
LG 43, 409 20 0 205, 477 230 0
AG 2,592 3. 000 0 14, 641 3,000 0
LT 1,960 403 0 10,374 1,313 0
LNGV 0 0 0 0 0 0
wnL 0 0 0 0
(LDH 0 0 0 0
cHaav 0 0 0 0 0 0
Z it 20 0 0 175 0 0
EREgest | 127,463y 6038y |} o . 2,925,680 1 L SN 1) N A 0
HAETERALE %) 86.0 118.4 0.0
B - N 1 2,939,79% __________________|
AETERAHE %) 86. 1

500L LA 10001 5k i
LPG 0 0 3 1
PG 83 0 2,189 0
LG 271 466 079 2,070
LT 0 0 0 0
Nt 0 0
(LDH 0 0
CHGGV 0 0 0 0
ZDfth 0 0 40 0
FEwEEAR | o[ - s | | __&su[ _____on_ _________[
HNETEE A %) 117.2 193.4
Y R I 6 [ &% _________ ]
HEERAE %) 0.2

1000LLLE
LPG 145 450 46 4,000 1,805 321
PG 0 0 0 0 0 0
LG 259 247 0 841 838 2
LT 15 10 0 208 43 34
tnL 0 0
(LDH 0 0
CHGGV 0 0 0 0 0 0
Z Dt 0 1 0 40 21 0
EpEgast | 1019 o8 46} 5089 27014 3’/
HNEERAE %) 82.6 110.0 122.3
R g I PO S KN 0 I R
ANETERAE %) 0.2
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FR9E TAE HBREELH
1A% (8 NEER (B)
And | mes | RAEREE | #urR A | mes | RRENEE | #us

CNGVE R R DR &
RIS St S I 2 2 of _________ of ... 89 40 of _________ 0
HETERAE %) 13.9 1.6 0.0 0.0
ovevEgas [ L 89 ]
AMETERA (%) 0.0

CHGVHZ 2= F OO Bt &
G Nk o S I 532 o o o 2141 _________ oo o 0
XETERABLE (%) 34.8 0.0 0.0 0.0
CHeVHE®&st L2 2]
HEERA L (h) 0.1

CHETHER SRR DM B &
L HILEE S S of ofp ofp . ______ of . . op of of _________ 0
HNATERA L (%) 0.0 0.0 0.0 0.0
crehEmest | o 1 o ]
xaiERA L (h) 0.0




